SCIENCES TECHNIQUES SESSION DE CONTROLE

CORRIGE
CORRECTION SCALE
READING COMPREHENSION 12 marks
a 1 mark
a- I couldn’t find any school with the facilities to accept him 2% 1=2
and was constantly rejected marks
b- Because there was no suitable public transport
constructed - Despite - mind 3X1=3
marks
loving - brave 2X1=2
g marks
a- togiveupon 2X1=2
b- to raise marks
home 1 mark
Any plausible and justified answer is accepted 1 mark
WRITING 12 marks
o Adherence to task 2 marks
o Language 2 marks
e Adherence to task 3 marks
e Language 3 marks
e Mechanics of writing 2 marks
LANGUAGE 6 marks
- : 6X05=3
stop — save — emissions — safer — tips — on
marks
. . . 6X05=3
has been — famous — visitors — cultural — going - biggest marks




